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Note : This question paper contains three sections A, B 
and C. Instructions are given in each section along 
with marks. 

SECTION A 

Answer any two questions from this section : 	2x12=24 

1. What are the various forms of economic system ? 

Describe the features of a mixed economy. 

2. Explain the concept of consumer's surplus with 

the help of a diagram. What are its limitations ? 

3. What do you mean by Elasticity of Demand ? 

How would you measure the price elasticity of 

demand ? 

4. Explain the marginal and average revenues of a 

firm in both, perfect and imperfect competition. 
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SECTION B 

Answer any two questions from this section : 	2x8=16 

5. What is long-run cost curve ? Why is short-run 

Average Cost Curve Tr-shaped ? 

6. Differentiate between 'fixed' and 'variable' 

inputs. Explain their importance in theory of 

production. 

7. What is the meaning of the term 'Monopoly' ? 

In what way does it differ from perfect 

competition ? 

8. What are profits ? Describe sources of profits. 
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SECTION C 

9. Write short notes on any two of the following : 2x5=10 

(a) Collective Bargaining 

(b) Competitive Wages 

(c) Extension of demand and increase (shift) in 

demand 

(d) Cardinal and Ordinal approach to utility 

analysis 

EGO-06 
	

3 	 P.T.O. 



17TM IIITRZ (*)t 	 

ITNT1 

‘'ff, 2019 

(1,fatch 	: zrrfamr) 

j. .3T1.-06 : arrfitw 	 

ffifel : 2 E70 	 3779*67:1 37.  : 50 

(35c1 * 7 : 70%) 

TI-e: T TR -q-vw Ti,4 	zw atk iT t L4us f 	(via 
3iramwg--4,7-7* Riw 3iwt7777 f 

	e 5R-4)4 3--d-f er-47: 	2x12=24 

1. aTrfik 7urr-41 	 AWR -q;z1F 	? ftrfka- 
aPiRwttu tt fatErdrall r qui4 *07 I 

2. i 	 37145-r 	tr 
ceitigen *=1-1* Tffi't 414.0 7z1T ? 

3. aTrcr 	 ? TO' 
rile wr TITER aTrcr 	McbR 4,14 ? 

4. tjf attT   1161fildi3ll 	¶4 	fflHin 

317I 	 oqi(seirO* 

EGO-06 	 4 



vut 

	

ofus 	fk4 r • 3774 3ri70147 	 2x8=16 

5. Ncbic41-1 opict 4E1r ? are:rwrAq atgff MNId 

Tr-aTTOW 	WIIlc 1" ? ttHsfil 	 I 

6. `14tio' * `Trftwer 37117  	4tq 3TP Gmiv 

	

siCki 	kgid qichi off 4Tct ?tii.miv, 

7. `wfirwre 	wr 374 ? Tuf 1A4lnai 
i*R 3r+11 ftrw ? 

8. ? qti41 	aufq rr-4R 

ECO-06 
	

5 	 P.T.O. 



9. ftRfArff 	14 *re e VZ 	C 1-4 vif 

fArR : 

() Trrif 	 

(•) ~ITV 

(TI) 1:671. 	i4oit 	 (extension) 311K TIVT 

2x5=10 

(increase/shift) 

(q. ) .34e1)1)01 	 *). titgeiloicb (cardinal) 3* 

sbcb (ordinal) M4 

ECO-06 
	

6 	 6,000 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

